input Hs.pART1 Hs. Hs.pART12 Hs.pART15 Ci.pART
iteration 1 |At.pARTa Dd. At.pARTb
= At.pARTD Dd.pARTf Dd.pARTb
traditional |Dd.pARTa Dd.pARTa
Blastp Dd.pARTb
searches Dd.pARTc
Dd.pARTd
At.pARTc
Dd.pARTe
iteration 2 |Dd.pARTf Dd. Dd.pARTc Dd.pARTd At.pARTa
Dd. Dd.pARTf At.pARTD Dd.pARTc
At.pARTd Dd.pARTc At.pARTa Dd.pARTd
At.pARTh Dd.pARTh At.pARTc
At.pARTa Dd.pARTa Dd.pARTe
Dd.pARTh At.pARTg Dd.pARTf
At.pARTD Dd.pARTb
Dd.pARTb At.pARTd
At.pARTg At.pARTf
At.pARTf At.pARTh
At.pARTe
iteration 3 |At.pARTe Dd.pARTa Dd.pARTd At.pARTD Dd.
At.pARTf At.pARTd Dd.pARTe At.pARTa At.pARTd
At.pARTe At.pARTiI Dd.pARTa At.pARTe
Dd.pARTd At.pARTc Dd.pARTb
Dd.pARTe Dd.pARTi Dd.pARTc
At.pARTi Dd.pARTe
Dd.pARTf
iteration 4 |At.pARTg At.pARTc At.pART]j At.pARTc At.pARTf
At.pARTh At.pART]j Dd. At.pARTg
At.pARTd At.pARTh
At.pARTe
iteration 5 |At.pARTi At.pARTf At.pARTiI
At.pARTh
iteration 6  |converged At.pARTg converged
iteration 7 converged converged At.pARTi

iteration 8

converged




